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Answer any five questions: 1=5

(i) Which of the following ion has maximum ionic radius —
ja) Na
(b) F~
I‘.f] 0=
(@)Ar~

(ii) Be= is isoelectronic with which of the following ions—
ja) H"
(b) Lir
fc)¥a”
(d) Mg >

(iii) According to HSAB theory, which of the following is a soft base 7

(a)CH.COO
(b)CO. =

(c1 NO,
(dyH

(iv) Which of the following pairs is different from the others?
(a)Li-Na
(b) Li-Mg
(¢) B-Si
(d) Be-Al



(v) The frans-alkenes are formed by the reduction of alkvnes with —

(a) Na/liq.NH.

(b) Sw/HC1

(c) H. / Pd - C, BaSO.
(d) NaBH.

(vi) Choosze the correct option :
CH.-CH-CH=CH. + HBr + (Organic peroxide) — A
“Atis

(a) CH.CH.CH.

(b) CH.CH-CH{Br)CH.
{c) CH=CH.

(d) CH-CH-CH-CH.-Br

(vii) The Friedel Crafis reactions using MeCl and anhvdrous AlCLmay be carried out
best with

a) Benzene
b) Niirobenzene
¢) Toluene
d} Acetophenone

(viii) Which carbocation is the most stable —

(a) (CH.).HC™
(b) HC

(©) (CH)C
(d)CH.H.C

(B
I
A

2. Answer any four questions: 4
(i) Chloroacetic acid is a strong acid compared to Acetic acid - Explain .
(i1} Write down the drawbacks in the Bohr’s Model.
{iii) Vinyl chloride has a lower dipole moment than ethyl chloride. Explain
(iv) Why is the electron affinity of chlorine more than that of fluorine?

[v) Carry out the following transformation: Acetyvlene to 2-butvne



(vl) What do vou understand about conjugate acid-base pairs?
(vii) Draw all the siereaisomers of tartaric acid mentioning enantiomeric and dizstereomeric pairs,

(viii) What do you mean by disproportionation and compraportionation reaction?

3. Answer anv two guestions:

2+6=12
(i) (a) Draw the structures of (E}-2-choloro-2-butene & (R)-2-hvdroxy propanal 3)
(b) Write down the significance of four guantum numbers. (3}
(il} (a) Give a short note on: Wurtz reaction (3)
{by What are the Vander Waal™s radli and covalent radii? 2)
(c) The ionization energy of Na- is more than that of Ne although both have the same
electronic configuration. Explain (13

(ifi) () Prepare isopropyl alcohol from propyne by applving following reagents: Aqueous KOH,
Benzoyl peroxide; Lindler catalyst.

(3
(b) Why [Agl] is more stable than [AgF.] . Explain it by HSAB Principle. {2)
[c) HI is a stronger acid than HCl and HF —explain. (1)
(iv) (a) What are the differences between SN1 and SN2 reactions?
Explain with suifable example. (3}
{b) Determine the value x and v in the following balanced equation —
SHO:-+x ClO. - 20H — xCI' +30.+ 6H.O (1)

{c) Explain the fine spectra in the light of Sommerfeld’s first modification. (%)
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CH:-CH-CH=CH- - HBr— (o3 TEa@ET — &4° 15

a) CH:CH:CH:

b} CH:CH-CHi{Br)CH:

e} CE=CH:

d) CH;-CH:.CH:-CH:-Br
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